
Tablica derivacija

f(x) f ′(x)

konstanta 0

xq (q ∈ Q) qxq−1

ax (a > 0, a 6= 1) ax ln a

ex ex

loga x (a > 0, a 6= 1)
1

x ln a

ln x
1

x

sin x cos x

cos x − sin x

tg x
1

cos2 x

ctg x − 1

sin2 x

arcsin x
1√

1 − x2

arccos x − 1√
1 − x2

arctg x
1

1 + x2

arcctg x − 1

1 + x2

Derivacija produkta:

(uv)′ = u′v + uv′.

Derivacija kvocijenta:

(
u

v

)′

=
u′v − uv′

v2

.



Tablica integrala

∫
xqdx =

xq+1

q + 1
+ C (q ∈ Q \ {−1})

∫
1

x
dx = ln |x| + C

∫
axdx =

ax

ln a
+ C (a > 0, a 6= 1)

∫
exdx = ex + C

∫
sin xdx = − cos x + C

∫
cos xdx = sin x + C

∫
dx

sin2 x
= − ctg x + C

∫
dx

cos2 x
= tg x + C

∫
dx√

1 − x2
= arcsin x + C

∫
dx

1 + x2
= arctg x + C

Formula parcijalne integracije:

∫
udv = uv −

∫
vdu.


